SEMINOLE COUNTY/FLORIDA DEPARTMENT OF HEALTH IN SEMINOLE COUNTY INTEGRATED SYSTEM OF CARE AGREEMENT FISCAL YEAR 2025-2026

THIS AGREEMENT is made and entered this ______ day of ________, by and between SEMINOLE COUNTY, a political subdivision of the State of Florida, whose address is Seminole County Services Building, 1101 E. 1st Street, Sanford, Florida 32771, hereinafter referred to as "COUNTY", and FLORIDA DEPARTMENT OF HEALTH IN SEMINOLE COUNTY, whose address is 400 W. Airport Boulevard, Sanford, Florida 32773, hereinafter referred to as "PROVIDER".

WITNESSETH:

WHEREAS, PROVIDER desires to implement comprehensive health services, as identified in the attached scope of work, to uninsured and underinsured residents of Seminole County; and

WHEREAS, COUNTY has deemed that this program serves a COUNTY purpose and has appropriated funding for such a purpose.

NOW, THEREFORE, in consideration of the mutual covenants, promises, and representations contained in this Agreement and other good and valuable consideration, the receipt and sufficiency of which is hereby acknowledged, the parties hereto agree as follows:

Section 1. Recitals. The above recitals are true and correct and form a material part of the agreement upon which the parties have relied.

Section 2. Term. The term of this Agreement is from October 1, 2025, through September 30, 2026, the date of signature by the parties notwithstanding, unless earlier terminated as provided in this Agreement.

Section 3. Termination. This Agreement may be terminated by either party at any time,

with or without cause, upon not less than thirty (30) days prior written notice delivered to the other

party. COUNTY will not be obligated to pay for any services provided or costs incurred by

PROVIDER after PROVIDER has received notice of termination. Upon termination, PROVIDER

must immediately refund to COUNTY, or otherwise utilize as COUNTY directs, any unused funds

provided under this Agreement.

Section 4. Services. PROVIDER must use funds from this Agreement to provide health

care programs and services, case management and referrals to homeless, uninsured, and

underinsured populations in Seminole County, Florida, as described in Exhibit A, Scope of

Services & Budget, attached to and incorporated in this Agreement by reference.

Section 5. Indemnification. Each party to this Agreement is responsible for all personal

injury and property damage attributable to the negligent acts or omissions arising out of this

Agreement of that party and the officers, employees, and agents of that party, in accordance with

Section 768.28, Florida Statutes (2025), as this statute may be amended from time to time. Nothing

in this Agreement is intended to waive sovereign immunity by any party to whom sovereign

immunity applies.

Section 6. Liability. Except for payments as specifically set forth in this Agreement,

COUNTY will not be liable to any person, firm, entity, or corporation who contracts with or who

provides goods or services to PROVIDER in connection with the services PROVIDER performs

under this Agreement, or for debts or claims of any type whatsoever accruing to such parties

against PROVIDER. This Agreement does not create a contractual relationship, either express or

implied, between COUNTY and any other person, firm, entity, or corporation supplying any work,

Integrated System of Care Agreement FY 2025-2026

Page 2 of 11

labor, services, goods, or materials to PROVIDER as a result of services or payments provided under this Agreement.

Section 7. Billing and Payment. COUNTY hereby agrees to provide financial assistance to PROVIDER in an amount not to exceed TWO HUNDRED AND SEVENTY THOUSAND AND NO/100 DOLLARS (\$270,000.00) for all services provided under this Agreement by PROVIDER during the term of this Agreement. Said sum is payable upon:

- (a) receipt by COUNTY of a payment request submitted in the format attached to and incorporated in this Agreement as Exhibit B, Invoice for Payment. Requests for payment can only be for services specifically provided for in this Agreement; and
- (b) verification by COUNTY's Community Services Department that the services for which reimbursement is sought are in accordance with service projections as described in Exhibit A, and that PROVIDER has complied with the reporting requirements contained in this Agreement.
 - (c) Payment requests must be sent to:

Kelly Welch Seminole County Community Services Department 520 W. Lake Mary Boulevard, Suite 100 Sanford, FL 32773

Section 8. Reporting Requirements.

(a) PROVIDER must submit such information as required by COUNTY, by the 10th day of each month, in order for COUNTY to assess program effectiveness. Failure to provide any portion of information required pursuant to this Agreement will be deemed a material breach of this Agreement and will result in denial of any pending payment requests and may, at the sole option of COUNTY, result in legal action being taken for recapture of funds already paid or termination of this Agreement for cause or both.

(b) PROVIDER must submit an annual report to the COUNTY during the term of this

Agreement. The annual report will be due on or before December 31, 2025. This annual report must

describe the accomplishments of the services provided during the term of this Agreement and describe

the next steps for continued implementation of the plans developed during this Agreement. This

subsection will survive the term of this Agreement until PROVIDER's full performance of the

requirements of this Agreement

(c) PROVIDER must submit such additional information as required by COUNTY to

assess program effectiveness.

Section 9. Unavailability of Funds. If funds to finance this contract become unavailable,

COUNTY may terminate this Agreement immediately, by written notice of termination to

PROVIDER as provided in this Agreement. COUNTY will not be obligated to pay for any

services provided or costs incurred by PROVIDER after PROVIDER has received such notice of

termination. In the event there are any unused COUNTY funds, PROVIDER must promptly

refund those funds to COUNTY or otherwise use such funds as COUNTY directs.

Section 10. Public Records Law.

(a) PROVIDER acknowledges COUNTY's obligations under Article 1, Section 24,

Florida Constitution and Chapter 119, Florida Statutes, to release public records to members of the

public upon request. PROVIDER acknowledges that COUNTY is required to comply with Article

1, Section 24, Florida Constitution and Chapter 119, Florida Statutes, in the handling of the

materials created under this Agreement and that said statute controls over the terms of this

Agreement. Upon COUNTY's request, PROVIDER will provide COUNTY with all requested

public records in PROVIDER's possession, or will allow COUNTY to inspect or copy the

requested records within a reasonable time and at a cost that does not exceed costs as provided under Chapter 119, Florida Statutes.

- (b) PROVIDER specifically acknowledges its obligations to comply with Section 119.0701, Florida Statutes, with regard to public records and must:
- (1) keep and maintain public records that ordinarily and necessarily would be required by COUNTY in order to perform the services required under this Agreement;
- (2) provide COUNTY with access to public records on the same terms and conditions that COUNTY would provide the records and at a cost that does not exceed the cost provided in Chapter 119, Florida Statutes, or as otherwise provided by law;
- (3) ensure public records that are exempt or confidential and exempt from public records disclosure requirements are not disclosed, except as authorized by law; and
- (4) Upon termination of this Agreement, PROVIDER will transfer, at no cost to COUNTY, all public records in possession of PROVIDER, or keep and maintain public records required by COUNTY under this Agreement. If PROVIDER transfers all public records to COUNTY upon completion of this Agreement, PROVIDER must destroy any duplicate public records that are exempt or confidential and exempt from public records disclosure requirements. If PROVIDER keeps and maintains the public records upon completion of this Agreement, PROVIDER must meet all applicable requirements for retaining public records. All records stored electronically must be provided to COUNTY, upon request of COUNTY, in a format that is compatible with the information technology systems of COUNTY.
- (c) Failure to comply with this Section will be deemed a material breach of this Agreement for which COUNTY may terminate this Agreement immediately upon written notice

to PROVIDER. PROVIDER may also be subject to statutory penalties as set forth in Section 119.10, Florida Statutes.

REGARDING THE **OUESTIONS** HAS **PROVIDER** (d) IF **CHAPTER** 119, **FLORIDA** STATUTES, APPLICATION **OF** PROVIDER'S DUTY TO PROVIDE PUBLIC RECORDS RELATING TO THIS CONTRACT, PROVIDER MAY CONTACT THE CUSTODIAN OF PUBLIC RECORDS, DDRAGER@SEMINOLECOUNTYFL.GOV, 407-665-7410, COUNTY MANAGER'S OFFICE, 1101 E 1^{ST} STREET, SANFORD, FL 32771.

(e) Where applicable, the parties will comply with the Health Insurance Portability and Accountability Act, as well as regulations promulgated under that Act.

Section 11. Audit.

(a) At the request of COUNTY, an audit may be required for the term of this Agreement and the results made available to the parties within ninety (90) days following the termination of this Agreement.

(b) In the event the audit shows that the entire funds disbursed under this Agreement, or any portion of such funds were not expended in accordance with the conditions of this Agreement, PROVIDER will be held liable for reimbursement to COUNTY of all funds not expended in accordance with this Agreement. Thirty (30) days after COUNTY has notified PROVIDER of such non-compliance, PROVIDER must remit the reimbursement to COUNTY. This reimbursement will not preclude COUNTY from taking any other action as provided in this Agreement or as may be provided by federal or state law.

Section 12. Notices. Whenever either party desires to give notice unto the other, it must

be given in writing by certified United States mail, with return receipt requested, and sent to:

For COUNTY:

Kelly Welch, Community Health Division Manger

Seminole County Community Services Department

520 W. Lake Mary Boulevard, Suite 100

Sanford, FL 32773

For PROVIDER:

Ethan Johnson, DrPh, MPH

Florida Department of Health in Seminole County

400 W. Airport Boulevard

Sanford, FL 32773

Either of the parties may change, by written notice as provided above, the person or address

for receipt of notice.

Section 13. Assignments. Neither party to this Agreement may assign this Agreement or

any interest arising from this Agreement without the written consent of the other.

Section 14. Independent Contractor.

(a) It is agreed by the parties that, at all times and for all purposes within the scope of this

Agreement, the relationship of PROVIDER to COUNTY is that of independent contractor and not

that of employee.

(b) No statement contained in this Agreement may be construed so as to find PROVIDER.

including its officers, employees, and agents, an employee of COUNTY, and PROVIDER, its

officers, employees, and agents will not be entitled to the rights, privileges, or benefits of COUNTY

employees.

Section 15. Entire Agreement.

(a) It is understood and agreed that the entire agreement of the parties is contained in

this Agreement and that this Agreement supersedes all oral agreements and negotiations between

the parties relating to the subject matter of this Agreement, as well as any previous agreements

presently in effect between the parties relating to the subject matter of this Agreement.

(b) Any alterations, amendments, deletions, or waivers of the provisions of this

Agreement will be valid only when expressed in writing and duly signed by the parties.

Section 16. Compliance with Laws and Regulations. In providing all services pursuant

to this Agreement, PROVIDER must abide by all statutes, ordinances, rules, and regulations

pertaining to or regulating the provisions of such services, including those now in effect or later

adopted. Any violation of said statutes, ordinances, rules, or regulations will constitute a material

breach of this Agreement and will entitle COUNTY to terminate this Agreement immediately upon

delivery of written notice of termination to PROVIDER as provided in this Agreement.

Section 17. Disclaimer of Third Party Beneficiaries. This Agreement is made for the

sole benefit of the parties to this Agreement and their respective successors and assigns and is not

intended to and will not benefit any third party. No third party will have any rights of this

Agreement as a result of this Agreement or any right to enforce any provisions of this Agreement.

Section 18. Governing Law. This Agreement will be governed by the laws of the State

of Florida and the ordinances, resolutions, and policies of COUNTY not prohibited thereby. Both

parties consent to venue in the Circuit Court in and for Seminole County, Florida as to state actions

and the United States District Court for the Middle District of Florida, Orlando Division as to

federal actions.

Section 19. Interpretation. PROVIDER and COUNTY agree that all words, terms, and

conditions contained in this Agreement are to be read in concert, each with the other, and that a

provision contained under one heading may be considered to be equally applicable under another

in the interpretation of this Agreement.

Integrated System of Care Agreement FY 2025-2026

Section 20. Equal Opportunity. PROVIDER agrees that it will not discriminate against

any eligible person receiving services under this Agreement because of race, color, religion, sex,

age, national origin, or disability and will take steps to ensure an eligible person receives such

services without regard to race, color, religion, sex, age, national origin, or disability.

Section 21. Severability. If any one or more of the covenants or provisions of this

Agreement are held to be contrary to any express provision of law or contrary to the policy of

express law, though not expressly prohibited, or against public policy, or, for any reason

whatsoever, be held invalid, then such covenants or provisions will be null and void; will be

deemed separable from the remaining covenants or provisions of this Agreement; and will, in no

way, affect the validity of the remaining covenants or provisions of this Agreement.

Section 22. Counterparts and Headings. This Agreement may be executed

simultaneously and in any number of counterparts, each of which will be deemed an original, but

all of which constitute one and the same instrument. The headings of this Agreement set out are

for convenience and reference only and will not be deemed a part of this Agreement.

Section 23. Exhibits. Exhibits A and B to this Agreement are deemed to be incorporated

into this Agreement as if fully set forth verbatim into the body of this Agreement.

Section 24. Conflict of Interest.

(a) The parties agree they will not engage in any action that would create a conflict of

interest in the performance of their obligations pursuant to this Agreement or which would violate

or cause others to violate the provisions of Part III, Chapter 112, Florida Statutes (2025), as this

statute may be amended from time to time, or Section 220.115, Seminole County Code, relating

to ethics in government.

- (b) The parties certify that no officer, agent or employee has any material interest (as defined in Section 112.312(15), Florida Statutes, as over 5%) either directly or indirectly, in the business of the party to be conducted under this Agreement, and that no such person will have any such interest at any time during the term of this Agreement.
- (c) The parties agree that federal or state monies, which may be received as a result of activities performed pursuant to this Agreement, will not be used for the purpose of lobbying any branch of government, agency or employee of the federal or state government.

IN WITNESS WHEREOF, the parties to this Agreement have caused their names to be affixed to this Agreement by the proper officers of each party for the purpose expressed in this Agreement on the day and year first above written.

FLORIDA DEPARTMENT OF HEALTH IN SEMINOLE COUNTY

By: _

ETHAN JOHNSON, DrPh, MPH

Health Officer

Date: 8/6/20

Witness

Print Name

1 >

Witness

Print Name

[The balance of this page is left intentionally blank.]

BOARD OF COUNTY COMMISSIONERS ATTEST: SEMINOLE COUNTY, FLORIDA By: ____ **GRANT MALOY** JAY ZEMBOWER, Chairman Clerk to the Board of County Commissioners of Seminole County, Florida. Date: _____ For the use and reliance of As authorized for execution by the Board of County Commissioners at its ______, 20____, Seminole County only. regular meeting. Approved as to form and legal sufficiency. County Attorney RM/vs T:\Users\Legal Secretary CSB\Community Services\2025 Agreements\Department of Health Integrated Services Agreement.docx Attachments: Exhibit A – Scope of Services

Exhibit B – Invoice for Payment

EXHIBIT A - SCOPE OF SERVICES & APPROVED BUDGET **Seminole County Community Health**

Department of Health in Seminole County Agency Name:

Point of Contact: Pranav Mehta

Contact Phone Number: (407) 754-4166

Contact Email: Pranav.Mehta@flhealth.gov

 Address:
 400 W. Airport Blvd. Sanford FL 32773

 Contract Term:
 10/1/2025 - 9/30/2026

 Total Contracted Amount:
 \$270,000

Service	Service Description	Approved Budget	Approved Units	Price Per Unit
Community Integrated Mobile Health Services (CIMHS) Outreach	Total number of outreach events held during the month. (Listing to include date, location, number served, etc. to accompany monthly invoice/report)	\$19,500.00	240	\$81.25
CIMHS Adult Physical Exam	Adult physical exam performed on the mobile vehicle during community events	\$2,500.00	50	\$50.00
CIMHS - Blood draw	Blood draw at community outreach events to include testing for HIV, TB, Syphilis/RPR, Hepatitis, A1c, TSH, CMP	\$33,000.00	009	\$55.00
CIMHS Medical Services	Basic medical services not included in an adult physical exam including blood pressure screening, testing (glucose, SpO2, BMI, A1c, Rapid HIV)	\$65,000.00	2,600	\$25.00
Group Pre/Diabetes Education (DEEP program)	Interactive group education program that equips clients with lifestyle strategies, peer support, and hands on tools to effectively manage nutrition and blood sugar. Certified Peer DEEP Educators/Community Health Worker provide service	\$37,500.00	09	\$625.00
Individual Pre/Diabetes Education (counseling)	A personalized counseling session offering diabetes education and clinically indicated glucose and A1C screenings to support effective management at home. Certified Peer DEEP Educator/Community Health Worker provide service	\$2,500.00	25	\$100.00
Group Nutrition Education	Curriculum - With Every Heartbeat Is Life. This curriculum helps community members learn how to make practical, lasting changes to protect themselves against heart disease. Each class will have at least 7 participants. The curriculum is a 6-weeks series of classes.	\$25,000.00	40	\$625.00
Individual Nutrition Education	During these individualized sessions, our Health Educator will administer basic medical screenings and also give individualized lessons from our healthy heart curriculum.	\$25,000.00	250	\$100.00
Oral Hygiene Instructions	Oral hygiene instructions given by a provider for homecare. Registered Dental Hygienist provides services	\$7,168.00	800	\$8.96
Fluoride Treatment	Topical application of fluoride varnish. Registered Dental Hygienist provides services	\$11,821.00	720	\$16.42
Dental Screening	Visual assessment of the patient's mouth, gums, and teeth to screen for any obvious signs of issues like decay, infection, or other abnormalities. Registered Dental Hygienist provides services	\$8,360.00	800	\$10.45
Dental Sealant	Thin, protective coatings applied to the chewing surfaces of molars to help prevent cavities. Registered Dental Hygienist provides services	\$15,528.00	800	\$19.41
Prophylaxis (under 12)	Removal of plaque, and stains from the tooth structures in the primary and transitional dentition. Registered Dental Hygienist provides services	\$15,779.50	755	\$20.90
Prophylaxis (12 and above)	Removal of plaque, and stains from the tooth structures in the permanent and transitional dentition. Registered Dental Hygienist provides services	\$1,343.50	50	\$26.87

^{*} Funds may be transferred within the line items with written approval from Seminole County Community Services, Community Health Division, without an amendment to this Agreement.

EXHIBIT B - MONTHLY REQUEST FOR PAYMENT Seminole County Community Health

#50 BU:

Department of Health in Seminole County Point of Contact: Pranav Mehta Agency Name:

Address: 400 W. Airport Blvd. Sanford FL 32773 Contact Phone Number: (407) 754-4166

Pranav.Mehta@flhealth.gov Contact Email:

Reporting Period:

October 1, 2025 - October 31, 2025

Vendor#

Invoice #:

Remaining Units Payments Current Current Previous Previous Approved Approved Approved

Service / Budget Category	Budget	Unit	Price Per Unit	Billed Units	Billed Amount	Units Requested	Payment Request	Requested to Date	Remaining	Balance
Community Integrated Mobile Health Services (CIMHS) Outreach	\$19,500.00	240	\$81.25	0.00	\$0.00	0.00	\$0.00	\$0.00	240	\$19,500.00
CIMHS Adult Physical Exam	\$2,500.00	20	\$50.00	0.00	\$0.00	00.00	\$0.00	\$0.00	50	\$2,500.00
CIMHS - Blood draw	\$33,000.00	009	\$55.00	00.00	\$0.00	00.00	\$0.00	\$0.00	009	\$33,000.00
CIMHS Medical Services	\$65,000.00	2,600	\$25.00	0.00	\$0.00	00.00	\$0.00	\$0.00	2600	\$65,000.00
Group Pre/Diabetes Education (DEEP program)	\$37,500.00	09	\$625.00	0.00	\$0.00	0.00	\$0.00	\$0.00	09	\$37,500.00
Individual Pre/Diabetes Education (counseling)	\$2,500.00	25	\$100.00	0.00	\$0.00	0.00	\$0.00	\$0.00	25	\$2,500.00
Group Nutrition Education	\$25,000.00	40	\$625.00	0.00	\$0.00	00.00	\$0.00	\$0.00	40	\$25,000.00
Individual Nutrition Education	\$25,000.00	250	\$100.00	00:00	\$0.00	00.00	\$0.00	\$0.00	250	\$25,000.00
Oral Hygiene Instructions	\$7,168.00	800	\$8.96	0.00	\$0.00	00.00	\$0.00	\$0.00	800	\$7,168.00
Fluoride Treatment	\$11,821.00	720	\$16.42	00.00	\$0.00	00.00	\$0.00	\$0.00	720	\$11,821.00
Dental Screening	\$8,360.00	800	\$10.45	00.00	\$0.00	00.00	\$0.00	\$0.00	800	\$8,360.00
Dental Sealant	\$15,528.00	800	\$19.41	00.00	\$0.00	00.00	\$0.00	\$0.00	800	\$15,528.00
Prophylaxis (under 12)	\$15,779.50	755	\$20.90	00.00	\$0.00	00.00	\$0.00	\$0.00	755	\$15,779.50
Prophylaxis (12 and above)	\$1,343.50	20	\$26.87	00.00	\$0.00	0.00	\$0.00	\$0.00	50	\$1,343.50
Total	\$270,000.00			0.00	\$0.00	00.00	00.00	\$ 00.00 \$	\$ 890	\$270,000.00

Note: Please attach documentation substantiating expenditures. Supporting documentation must be submitted with each payment request. Failure to submit required documentation may result in denial of invoice or delayed payments.

* Funds may be transferred within the line items with written approval from Seminole County Community Services, Community Health Division, without an amendment to this Agreement.

I certify that the goods and/or services covered by this request have been provided to Seminole County in accordance with the terms and conditions of the contracts and are documented

by the attachment(s).

Authorized Signature:

Date: